GYMNASE DE BURIER MATHEMATIQUES

Factorisation V

Résoudre les équations par factorisation

1) 422 — 82— 60 =0 10) 922 + 27 = 23 + 2Tz

2) 1223 — 2t — 3622 =0 11) 523 + 1222 — 10z = 122* + 10z

3) x®+Ta? —4x —28 =0 12) 223 + 622 — 122 — 36 = (v + 3)?
4) 2t — 1722 +16 =0 13) z® + 5z = 222 + 40x

5) 27x% — 108z + 144z — 64 =0 14) z(x® —13z) = —36

6) 2 +512+4=0 15) 1023 + 4822 4+ 10 = 223 — 96z — 54
7) 202? — 223 — 50z = 0 16) 23 = 6z

8) xt+ 2% —27x —27=0 17) 2 + 2% + 22 + 2 = 23 — 222

9) z* + 502 + 625 = 0 18) x5 + 822 = 43 + 32



Réponses

1) S={-3;5}
2) S ={0;6}
3) S={-7;-2;2}

4) S={-4,-1;1;4}

10) S = {3}

11) S = {-2;0;2}

12) § = {—3;—2;3}
13) S = {-5;0;7}

14) S = {-3;-2;2;3}
15) S = {-2}

16) S = {—/6;0; 6}
17) S=10

18) S = {-2;2}

GIL



